Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300004 Date: 07- 01-2017
Subject Name: Engineering Physics (Group-1)
Time: 02:30 PM TO 04:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
Make suitable assumption wherever necessary.
Each question is of 1 mark.
Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

g~ W

NO. Question Text and Option. st A [Qscl.

1. Which of the following physical quantities is a derived one?
A. Mass B. Force
C. Plane angle D. time
1. ollAeti Hiell 58 elllds AQ WA & 2
A ea B- aa
C. auad sl D yua
2. Which of the following physical quantities is not a fundamental physical quantity in
the Sl system ?
A. Luminous intensity B.  Electric current
C. Solid angle D.  Quantity of matter
2. olAetl Hiell 58 AR sI utulAul yaed elllds AR el 2
A eld dlgdl B dlyyaus
C. uet Sl D. geal ofl 22l
3. Number of significant figures in 5.055 and 0.005055 are respectively.
A. 4and3 B. 3and3
C. 4and4 D. 4and6
3. AEs vl 5.055 Al 0.005055 Hi ALes vislo{l Aval wofsA 8.
A 4ud 3 B 3ua3
C. sua4 D. suas6
4. is not a physical quantity.
A. Density B. force
C. Energy D. kilogram
¥. olldati vl A ellds AQ otell.
A el B. wa
C. Qe D B
5. The Sl unit of Luminous intensity is
A. lumen B. candela
C. lux D. watt
W 0Q dlddl ol sEusufaul Asu 8.
A yiat B 3da
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10.

0.

11.

Q.

12.

.

13.

C asu D. Qe
Which of the following physical quantity has derived unit ?
A. mass B. length
C. time D. volume
ol Acti Hiell 56 elllds A@ A WRA AsH & 2
A e B. doud
C wna D s¢
The significant figures in 3.012x 10*m? are .
A 312 B. 012
C. 3012 D. 12
3.012x 107 m? Hi weds 18
A 312 B. 012
C. 3012 D. 12
g _ kg

12 = 29

cm’ m®
A 103 B. 10°
C. 10° D. 10°

g _ kg

12 = 29

cm® m®
A 103 B. 10°
c. 10° D. 10°
1A = cm.
A. 10 B. 10
C. 10% D. 10
1A = cm.
A.  10% B. 10°%
C. 10% D. 10%
1 Newton = dyne
A. 10° B. 10°
c. 107 D. 107
1 o3jeatl = SLl&at
A. 10° B. 10°
c. 10/ D 10”7

A car accelerates from rest at constant rate of acceleration. In 20 second,its velocity
changes to 144 km/hr ,the distance travelled by it is

A. 20m

C. 1440m
RAR RA[AHI oUAdedl 23t 5l As 512 WA YAl Yl 20 sec Hi 144

km/hr ol Aol Yitct 82 8, dl AQl s1U¢G R

B.
D.

400 m
2980 m

A, 20m B. 400m

C. 1440m D. 2980m
The product of mass of the body and its velocity is called
A. power B. energy
C. momentum D. force
UELY oll €01 Aol AL ol JLRUSIR A 58 9.
A YR B. Qi

C. Qoet D wa

Newton’s first law of motion gives us
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3.

14.

Y.

15.

Q.

16.

6.

17.

9.

18.

.

19.

e.

B.
D.

B.

A.  the magnitude of force

C. the magnitude and direction of
force

oot oll YU [[an W B.

A aa o yeat

C. ala of yeat u Rau

D.

Direction of force
the definition of force

o ol (2au
o ol cavl

The force which produces an acceleration of 2 m/s? in a body of mass 1 kg is .

A. 05N B. 1N
C. 2N D. 4N
1 (3.91 €0 ol UELHL 2 m/s? yAol Beusl scll HIZ %33 tlo 8.
A. 05N B. 1N
C. 2N D. 4N

A body of mass 20 kg moving with velocity of 15 m/s is acted upon by a constant
force of 50 N, so its velocity brought to rest in the time of

A.  2s B. 4s

C. 6s D. 8s

15 m/s oll QoL &l oA 5cll 20 kg QoW A5 UELE UR 50N of AN ¢

AUSAL Aol Aol U B, Al RAR &l U2 Al B,

A. 2s B. 4s

C. 6s D. 8s

The Sl unit of momentum is

A.  kgms? B. kgms?

C. ms? D. ms?

Ad(HLel oll SI AsH 8.

A.  kgms? B. kgms?

C. ms? D. ms!

The inertia of a body depends on

A. time B. mass

C. length D. temperature

ueldo] ascal UR AUR AW B,

A B- en

C. dog D ctumtet

If a particle moves with constant velocity its

A. Acceleration is positive. B.  Acceleration is negative.

C.  Acceleration is zero. D.  Speed is zero.

%l 50l AAN AL Yl A 52 A

A Qall Yol st 82t B Qoll oL »uL 8l
D.

C. Qell yaoL Yot Sl

Aell BsU 9ot 8l

To bring the body into motion from its rest position and to slow down or stop its
motion, some external agency required is known as

A. force
C. momentum

B.
D.

velocity
Acceleration

RAR el alAnl ctaal wal dldHtet uelsloll ol Ll wsal ¥ ax

A2slacll YR USlcl gl UReo o

A. O{m
C.  Qolet

B.
D.

58 9.
aal
yaol
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20.

0.

21.

1.

22.

2R.

23.

3.

24,

Y.

25.

The friction (force) of a body acts always .........

A. inthe direction of motion of a B.  opposite to the direction of motion of a
body body

C. inthe direction as well as D.  perpendicular to the motion of a body
opposite direction of motion of a
body

del don AW UeLede{l aldedl

A (Raudl » 8l B. B.  (Azuu Reuni o 8l B.

C. Rouni 3 Qe Raudi e Do olfdal clod (Rauni 8l B.
0.

If a body can completely regain its original shape after removal of the deforming force,
it is called body.

A. elastic B.  perfectly elastic

C. partially elastic D. plastic

[Qzusola g2 sl %l ueld Wdloll Yo RAMA AYRudl yitdt 531 a3 Al dal
UeLdal 58 9.

A @Qaus B adyd RAaQrauus

C. aad: RAQruus D w@Qrauus

If fracture occurs soon after the elastic limit is passed the body is said to be
A.  brittle B. elastic

C. ductile D. plastic

ol Ueld RA[RAUUS o€ ULl Rt o alidll macl 2l ol dlat ,dl dall
uelda adlHl Hysla B.

A oesulell B RA[Qrauusdisll

C. Ao all D yRA[Qruus ol

The reciprocal of bulk modulus is called .

A.  Compressibility B.  Elastic modulus

C.  Modulus of rigidity D.  viscosity

5& RAARAUUSAL s oll &l o 58 8.

A gotefladl B, @[Qrauusdl is

C. WULSR RA(QRUUS AL 218 D. RLolcll

force should be applied to produce an elongation of 2 mm in a rod of length 1.0
m and cross-section 1 cm?.Y=10" N/m?

A.  2x10“N B. 2x10°N

C. 2x108N D. 2x10'?N

1m Aol ol 1ecm2AUSBE ol AAsncllon Al el Wag KgR
5 Rl AUl 2 mm B2l aulRA Ul

A.  2x10*N B. 2x10°N

C. 2x108N D. 2x102N

When a deforming force is applied on a body, it changes the configuration of the body
by changing the normal positions of the molecules or atoms of the body. The internal
force that comes into play which brings the body back to its initial configuration is
called force

A. deforming B. newton

C.  mechanical D. restoring
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QY.

26.

?6.

217.

V.

28.

RC.

29.

€.

30.

30.

31.

34.

Wlel [Qausco oll QAU $Rcll AR [AZusHn g2 $Rcll UELdal Asll ya
RAQH clddl s 58 .

A Qzus aa B ojea

C. 2iBs un D yetreuus
Unit of stress is same as unit of :

A. Pressure B. Work

C.  Acceleration D. Momentum
yldolo ol AsH v oll WsH UHlat B.

A goal B. g

C. yaol D. Qoutet

With increase in temperature surface tension

A. decreases B. increases

C. remains constant D. None of the above
AlUHLotMl R saledll Yol 283

A ued B aud
C.awua D Qs gl «1Q.
95 dyne/cm= N/m

A.  95x103 B. 0.95

C. 0.095 D. 950

95 stgfat /AH| = oj2ot/Hl

A, 95x103 B. 0.95

C. 0.095 D. 950

Water rises up to 3.6 cm in a capillary tube of radius 0.2 mm immersed vertically in
water. How far will it rise in a tube of diameter 0.3 mm ?

A. 20.8cm B. 3.8cm

C. 48cm D. 40.8cm

0.2 mm Bl urgadl 3aetoll A well Hi gousaiell Aul 3.6 cm well Gu

U B Al 0.3 mm A YA Sactollui well deq usd 2

A. 20.8cm B. 38cm

C. 48cm D. 40.8cm

Intermolecular force of attraction between the molecules of glass and molecules of
water is known as force.

A.  Viscous B.  cohesive

C. adhesive D. weak

1A otl AR Al UR[l ol QA AR ALl WidR AU oltal
Ml 313 Boal Hi A B,

A et B aul3d

Co B D. s

If the value of the angle of contact for a liquid is greater than 90° , (6>90°)the liquid
will in the capillary tube.

A. rise B. Remain stable

C. fall D. overflow

gl S8 yael Hi2 Aus Slale] Heal 90° scll AR 8121, (0>90°) L AL Yellsl
UoLHL AWl Satetoflud

A GUR ued B. R 222
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32.

32.

33.

33.

34.

3%.

35.

34.

36.

36.

37.

390.

C. oA GdRd D. ol lougs «Q

The temperature at which surface tension of the liquid becomes zero is called
A. Curie B.  Super
C.  minimum D. critical

% AlUHIl Ycll8l oll Yr6cllRlo] HE Yol U A2 d cdlUHlet sl oA A

WA 8 ?
C. ot D. sl
If a rain drop having radius 0.35 mm moves in air with terminal velocity 1 m/s,viscous
force acting on it is (M=2x10"4 NSZ )
m

A. 6.6x10°N B. 6.6x10°N
C. 1.32x10'N D. 13.2x107N
0.35 mm (sle] cdRULE] A ofe 1 m/s oll ilAr Aotell scuml aUd s
8l dl detl UR Aldlg Rlolcl K .(n=2x10'4N—S;)

- m
A. 6.6x10°N B. 6.6x10°N
C. 1.32x10'N D. 13.2x107N
When a small sphere is allowed to fall in a liquid, its velocity
A. increases B. remains stable
C. initially increases and then D.  decreases

remains constant
A olloll JNOUA YAEIHL Uclol sACUML AUA B Al dell AdL a9,
A aud B [RAR 28
Coouilcmi aud udl wua P wed
289

Liquids like oil and honey are not able to flow easily because of
A.  Pressure B.  Density
C.  Surface tension D. Viscosity
Act Al 1Y Vel Yallgl sal siRell A0l asl asdl ol ?
A eol B waldl
C. ywaw D setctl
When velocity of the fluid change continuously and haphazardly from point to point, it
is called :
A. Laminar flow B.  Steady flow
C.  Turbulent flow D. Heavy flow
ARA adAdetHl €35 (Gl WA AR s oll AoH - UA W@t A
35Ul 38 AUcll W@l dla Al Acll Agatal 58 9.
A il aget B el dget
C. ygou dgst D. au? asat
The viscosity of a fluid with rise in temperature.
A. remains constant B.  decreases
C. increases D. decreases initially then increases

AlUHLeHD AR actedl , AHeA A dres(l Raloudl
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38.

3¢.

39.

40.

¥0.

41.

¥q.

42.

¥R.

43.

¥3.

44,

¥Y¥.

A RAR 2 B.  wed

C.  qud D. g3audui wed ugdl qudl
Sl unit of velocity gradient is
A. 1/sec B. m/sec
C. m.sec D. second
Aol YAUAsL oll ASH 8.
A. 1/sec B. m/sec
C. m.sec D. second

is the Sl unit of heat .
A. kelvin B. joule
C. kilogram D. celsius

A GWL oll SI AsH B,

A decllot B. o
C. Baoun D ARan
Which of the following is closest to a black body ?
A.  Green leaf B. Black hole
C. Lamp soot D. lron ball
o{lAatl Ul AWl ay stow et (black body) 313 sl uetd ad & 2
A dlg ud B uQs A
C. dlaell Dal D. Qs ol slal
On the temperature scales of °C and °F ,which value of temperature is the same ?
A 0 B. -32
C. -40 D. 40
dAlUHLotoll sl YL HIE °C wa °F HIUsHoll YU ARUL 1A B ?
Ao B .32
C. _40 D. 40

Heat capacity of a body depends on the .
A. material of the body and its mass B.  temperature

C. material of the body and its D. volume
temperature
ueldoll Guuuildl o yeau uR AUld 8.
A yeldell otd Aal eq B, dtusuet
C. yetdoll ot A dtuntet D. s¢
On the Celsius scale what is the value of absolute zero of the temperature /
A. -100°C B. 0°C
C. 100°C D. -273.15°C

(ARU&t Yo cdAlUMlet of Yt ARUB HIUSH UR g B 2

A. -100°C B. 0°C

C. 100°C D. -273.15°C
Which metal is filled in thermometer ?

A.  Steel B.  Aluminium
C. Mercury D. Copper
e Ui 58 Uld Ral Hi A B ?

A @A B, AcyMollan
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45.

¥4,

46.

¥S.

471.

¥9.

48.

¥C.

49,

¥C.

Coul D digy
When two bodies with different temperatures are brought in contact .

A. heat cannot flow B.  heat flows from the body with lower
temperature to the body at higher
temperature

C. heat flows from the body with D. heat flows from the body with higher

higher temperature to the body temperature as well as at lower
at lower temperature temperature to the body.

WAH dAlUHlel Ul A Uelel ol AUSHL cllaaHl A IR

A GWle] clsel L o8l B Guit 2l ctuntstenon uetdiell
Ay dluHletalol yeld dAR$ doel
ur

C. Gwu ay dluntetauon D. G ést uetdell olrM uetdl Auey

weldell AL cdluHtsialot oRH ueldel 651 UELE dRS clgel
UELd dRrg aget WA wa

If one end of the bar is kept in contact with a gas-stove, then the other end will get
heated after some time due to

A. radiation B.  Convection of heat

C. Conduction of heat D. electric current

Y Rcloll AUSHL ANAH AVLSell A(T2Uell As DSt Al alst AH2A ULl
oflogl BSL  ueell o lA oM A B.

A GwQBRal B, Guilotatel

C. Gw dget D lyyaus

Solar energy reaches the earth, it is due to

A.  Forced convection B. radiation

C. Natural convection D. Conduction of heat

Yaluiell Geuat Al G wueu Yl Yol A s120 UslA 8.

A QA d Gwlolalet B Guu@B:ual

C. gerdl Guuotaist D Guil dget

The heat required to raise the temperature of 1 gm of pure water by 1°C is called :
A. 1joule B. 1calorie

C. 1 Newton D. 1 pascal

1 UH Yol Wl of ctudiet 1°C arRal Hie qudl usdl Guiial 5& 9.
A wd B. 1 3cdl

C. 1 yeat D. 1 uesa

A tuning fork makes 256 vibrations per second in air. When the velocity of the sound
is 330 m/s, then wavelength of the wave emitted is

A. 0.56cm B. 0.89Im

C. 1l1lm D. 129m

As wR siel (tuning fork) W WS ASSHL 256 AR Y13 Aajed 8.1
HItAHHL el 235U 330 m/s 8l dl 2R sieldl Gausat AUdl Ratell dRal

AoleS &9l
A. 0.56cm B. 0.89m
C. 111m D. 1.29m
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50.

Uo.

51.

uq.

52.

UR.

53.

u3.

54,

uy.

55.

uy,

56.

Motion of a disturbance in a media is called

A. Wave front B.  Wave number

C. wavelength D. wave

HlAHHL (Qalleto(l w6l allda 58 B.

A 3oL wl B. 201 dval

C. o daues D. 301

Sound wave is a .

A. longitudinal and mechanical B.  transverse and mechanical

C. longitudinal and non-mechanical D. transverse and non-mechanical
DU(ERCER UsIR il O,

A old wal Alls B.  duold wa ail@s
C. Jold wa Ra2uiBs D. duold wa Qs

The frequency of ultrasonic waves is :
A. more than 200 Hz B. more than 20KHz

C. Between 20 and 200 Hz D. Lessthan 20Hz
UIAESs dR9lell gl 0.

A 200 Hz 52l AU B.  20KHz 82l duR
C. 20ual 200 Hz oll a2 D. 20 Hz 52l 206
The periodic time of a wave with frequency 10 Hz is :

A. 100 second B. 1second

C. 0.1second D. 0.001 second

10 Hz g uRledl dR0lell Al dsian 8lal.

A 100 Ases B. 1 Asos

C. 01 Ases D. 0.001 Ases

The phenomenon of increase in amplitude when the frequency of the external driving

force becomes equal to the natural frequency of the oscillating body is called

A. Stationary waves B.  resonance

C.  harmonics D.  superposition

Ueldoll secl 2gla ua sltaonsl ugld AU Udl sUQRAR HetH
ootcllo(l ueell o\ 5 B.

A @t d2ol B, ofelle

C. slas D uwlds:wa

The relation between velocity(V) ,wavelength(X) and frequency(f) is
A V=rxf B. A=Vxf

C. f=Vx) D. V=2xf

AIL(V) , 3L AULES (1) Wl G[A(f) AR Aol e2lcld Y
A, V=rxf B. A=Vxf

C. f=VxA\ D. V=Axf

The wavelength of a radio wave is 1200 cm and its frequency is 25x10° kHz. The

velocity of the radio wave is :
A. 30 x108 m/sec B. 300 x108 m/sec
C. 3x10%®mi/sec D. 0.3 x10® m/sec
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us.

S7.

.

58.

uc.

59.

ue.

60.

SO.

61.

Sq.

62.

As AS2A dR0lell 201 AelleS 1200 cm Al wg(d 25x10° kHz B.a A3
dR9lell QoL 2.

A. 30 x10® m/sec B. 300 x10® m/sec
C. 3 x108m/sec D. 0.3 x108 m/sec
Which of the following is responsible for glittering of diamond ?
A. Interference B.  Diffraction

C. Total internal reflection D. Refraction
o(lAstl 1l 53 510U SlRloll ANSI2 M2 HAUHER & ?
A dsel B. Qadet

C. ydl uidRs uriadet D. agletast

Absolute refractive index of any medium is n and velocity of light in that medium is v,
so relation between n and v is

A. v=nc B. nav
C. 1 D. naV?
no =
v
51¢ As HAMaA (AR08t asletclotis n Aal A HItaAHML Ysialell Aol v slad Al
nAal v Rl Aol ULl
A. v=nc B. nav
C. 1 D. naV?
no =
v
Rainbow is an example of .
A. Reflection B. Diffraction
C. Dispersion D.  Scattering
Heldloj of GELSRWL B.
A yrtadet B. (Qadet
C. [Qeueset D ydlolet
Polarisation of light proves that light is made up of :
A.  Transverse waves B.  Longitudinal waves
C. Linear waves D. Rays without wave
yslalell Yclletdel ad AAA aA & ¥ ysial R0l oll siacl B.
A dadld B. ol
Co Pu D d?a1 corett (BrE0
Diffraction means
A. refraction B.  Reflection in the same medium
C. Change in wavelength of light D.  Phenomenon in which light bends
when it moves from one medium when obstacle comes on its path
to another
[Qadet AeA
A asglelclet B Qo sreattui uRtetclot
C. As weatuidl ol D. ysiatett HdolHl A& iRl
HLRRAHHL el Ustatell Rt Al vdRl2A Won ysial anis A 8
Aol Ul Al $$1R d daell

Which of the following equipment can be used to arrange the molecules in a different
way ?
A.  Optical microscope B.  Electron microscope
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SR.

63.

G3.

64.

S¥.

65.

SU.

66.

SS.

67.

SO.

68.

SC.

69.

Sc.

C.  Scanning tunnelling D.  Screening tune microscope

microscope
sl YslRell GUsL /AUl 2l wWRllal olcll Il olscll asia & ?
A ysiellal gslsly B gaAsglel HSSIE\U
C. Bollot eatcllol uesslelu Do 2loflot 23yet 1eSslRslu
10 nanometre = metre
A. 10% B. 10°
C. 107 D. 101
10 asllleR - Hle?
A. 108 B. 10°
cC. 107 D. 101
The SA/V ratio for a nano particle is .
A. Very high B. Verylow
C. normal D.  None of the above
AU ol A0/ 5€ oll 9RNlcAR alollueld 12 sla 8.
Ay auR By 2081
C. et D. Guaniall As ual odl.
Number of protons and neutrons in the nucleus of ;He? is
A 1,2 B. 2,1
C. 2,3 D. 3,2
oHe3 URHIR Hi Ylalet Wl oylotall duall WaisA 8.
A 1,2 B. 2,1
C. 2,3 D. 3,2
is maximum for y rays.
A. lonising potential B.  Penetrating power
C. Heatenergy D.  Angular deflection
vy (5200 “e2 HedH B.
A Ese @R B Qeot aa
C. Gwu aba D glellat watcdet
Half life of a radioactive element is 10 days. Its average life is
A. 2886 days B. 14.43 days
C. 28.86 days D. 0.2886 days
AdDAsdlel uetedoll et s1 10 R B.cAl doll AU Wclot SL0L
8.
A 2886 (B B. 1443 au
C. 2886an D. 0.2886 R au
a particle is nucleus of .
A. Li B. CI
C. He D. Mg
WAL SQL A R(sAAA B,
A. Li B. CI
C. He D. Mg
Which is the unit of radioactivity from the following ?
A. Newton B. Erg
C. Dyne D. Curie

ol Aol Higll A0 AN 5E 2] A AsH R,
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A 2ot B 2

C. sieat D. sydl
70. Velocity of y rays is to the velocity of light.
A. equal B.  One third
C. Less D. One-fourth
90. v (35200 o0l A2, yslatell AL $cll 8.
A wul B. Qs glQaiu
C. a8l D Qs uqaln

*hkkhkhkkkikikhkkikiikkik
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